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(2) Q@ 1i compulsory.

(3) Mention your options clearly

(4) Figures on the right md{ﬁtc \f:kll m:i'k3

(5) This question paper %vg\q\\ 5 /Quesuon

1  Answer the folldwr _ 14
(a) Dlstmgumh be\tw & user - defined ﬁmctlo'l and one
supplied in the library.
) ( (b) 4in the mea ing of function prototype float fanel
(J o int). ,
(c) age representation of floating point numbers.
(d t will" be the location of element Aij-in two
signal array stored in row-major order ?
—fe) Recursion. ;
[ ‘// NEY <\(%i\  the reverse polish notation for the infix expression :
\\ Mavpletdstersia | -
ﬁ(}'{) Diefine event-driven simulatidgn.
\ Give best, average and worst case complexity of selection
4 \ / sort. : SR
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(ir What is priority queue ?

_(j)  What is critical node in a height balanced treec ?

Jk) (}ive linkcd hst representation of the polynomial

Ba® 4 ga? a +2w+1xy + 53
H)  Define linked dlct.ona}v.
Jm) Define term -

(.i) Data structurce

(i1) ARRAY.

2 (a) Write an algorithm to calculate factorial of 8
number N recursively, which explicitl ) the
recursive framework. Also trace the 1lgor1t n e

, /
(b)  What is Queue ? Explain dlffelent Lypeg &f\eues 6

with example.

2  (a) Write an algorithm to Lonvert yal
éxpression into postfix and trac
(a+chTd\ (e+f/d)'

v Y Explain simulation with the ge
event- drlven snnulatlo;a/ \ v
3 (3 What are various

an algonthm to a

+ " (b) Wnte an’ algﬁmthm to
‘ nodes m a. cu i:ul”" linked list. -

OR

3 (a) How 1

o ee _into_ b___'_l_l_‘Lm_ee
b)

non 1 ecurs:vely

4 - /( vhat are various search techniques ?
/' -
/
(
\

.Lra/\qe the algorithm., Wg\’

———

) Lwo way melge sort and trace it

\?5/ OR
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gorithm to txaverse a_binary

or T /% S
(o N N i
%smed infix 8

gorithm fo

D ka\mo of linked list ? Write 8
\1\ gjnonuals and trace it. .

eerte an ‘element between two 6

irected \tr e can be represented graphically 8
ifferent ways? Write an - algorithm to convert

tree in post 6

algomthm_fm:_mnary search into an array and

/ \}B Wﬁ‘lte an a]gorlthm to sort a given array using 8
7 ]

[Contd..

i ’ h~ttp://GCET.AtoZmath.com'— GCET MCA, MBA Online Exam Pre

-

baration -’




ht/t;% NSGU.AtoZmath.com — BCA Syllabus, Question Paper, Programs ““ﬂ

i
A L
/’7( g } . 5 ._;
o .4 ( (a)/ Write the algorithmm to create a differentiation tree .

/ g for a given expression tree and trace the algorithm.
W Write an algorithm to sort a data areay using
W‘( bubble sort. '
5 Write notes on : (any four)
() Symbol table
(&) Weight balanced tree
(&) Syntlax analysis
) Stack machine
(e) Threaded binary tree

(f) - Insertion sort.
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